
 

Solving Proportions 

Directions: Solve each proportion. Use your answer to navigate through the maze. Show your work. 
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𝟒
=

𝒙

𝟓
 

𝒙 = 𝟏𝟎 

 

𝟏𝟐 + 𝒙

𝟑
=

𝟐

𝟔
 

𝒙 = 𝟒 

𝒙 − 𝟑

𝟑
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𝟐
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𝒙 = 𝟖 

𝒙

𝟐
=

𝟏𝟎

𝟒
 

𝒙 = 𝟏  𝒙 = 𝟔 

𝒙 − 𝟐

𝟒
=

𝒙 + 𝟓

𝟑
 

 

𝟐

𝒙 + 𝟑
=

𝟑

𝟔
 

𝒙 = 𝟏𝟖 
 

𝟔

𝒙
=

𝟒

𝟐𝟒
 

 
𝒙 = −𝟑 

𝒙 = 𝟑 

 

−𝟒

𝒙
=

−𝟐

𝟑
 

𝒚 = 𝟏 

𝟐𝒙 + 𝟑

𝒙 − 𝟏
=

𝟓

𝟐
 

𝒙 = 𝟏𝟐 

𝟏𝟎

𝒙
=

𝟓

𝟒
 

 

𝒙 + 𝟐

−𝟑 + 𝒙
=

𝟒

𝟑
 

𝒙 = 𝟏𝟏 
 

𝒙 = −𝟏𝟖 

𝟔𝒙 − 𝟓

𝟐
=

𝟑

𝟔
 

 

𝒙

𝟒
=

𝒙 + 𝟓

𝟐
 𝟏

−𝟔 + 𝒙
=

𝟒

𝟖
 

 𝒙 = 𝟒 
 

𝒙 + 𝟓

−𝒙 + 𝟒
=

𝟑

−𝟐
 

𝒙 = −𝟏𝟏 

 

𝒙 = 𝟑𝟔 

 

𝒙 =
𝟏

𝟐
 

 

𝒙 = 𝟓 

 

𝒙 = −𝟏𝟎 𝒙 = 𝟖 

𝒙 = −
𝟏

𝟑
 

𝒙 = 𝟓 

 

𝒙 = 𝟐𝟔 

𝒙 = 𝟏 

𝒙 = 𝟐𝟐 

 

𝒙 = −𝟓 


